Some identities involving degenerate Cauchy numbers and polynomials of the fourth kind

Xiao-Qian Tian¹, Wuyungaowa^{2,*}

¹School of Mathematical Sciences, Inner Mongolia University, Hohhot, China

Email: tianxq1231@163.com

^{2,*}School of Mathematical Sciences, Inner Mongolia University, Hohhot, China

Email: wuyungw@163.com

Received: April 24, 2023; Accepted: May 30, 2023; Published: June 27, 2023

Copyright © 2023 by author(s) and Scitech Research Organisation(SRO).

This work is licensed under the Creative Commons Attribution International License (CC BY).

http://creativecommons.org/licenses/by/4.0/

Abstract

In this paper, we study the constant equations associated with the degenerate Cauchy polynomials of the fourth kind using the generating function and Riordan array. By using the generating function method and the Riordan array method, we establish some new constants between the degenerate Cauchy polynomials of the fourth kind and two types of Stirling numbers, Lab numbers, two types of generalized Bell numbers, Daehee numbers, Bernoulli numbers and polynomials.

Keywords

Cauchy polynomials; Generating functions; Riordan matrix; Degenerate Cauchy polynomials of the fourth kind; Stirling numbers; Lab numbers; Bell numbers; Daehee numbers.

1. Introduction

Recently, studying the degenerate forms of various special polynomials has become an active research field and has yielded many new combinatorial results; see, for instance, [2, 4, 5, 6]. We recall the generating function of C_n is $\sum_{n=0}^{\infty} C_n(x) \frac{t^n}{n!} = \frac{t}{\ln(1+t)} (1+t)^x$. In this paper, we discuss the generating function of the degenerate Cauchy polynomial of the fourth kind $C_{n,\lambda,4}(x)$. We refer to Pyo S S[2] for this topic. The definition of $C_{n,\lambda,4}(x)$ is

$$\sum_{n=0}^{\infty} C_{n,\lambda,4}(x) \frac{t^n}{n!} = \frac{\lambda t}{\ln(1+\lambda \ln(1+t))} (1+\lambda \ln(1+t))^{\frac{x}{\lambda}},\tag{1}$$

From the generating function of $C_{n,\lambda,4}(x)$, we know that $C_{n,\lambda,4}(0) = C_{n,\lambda,4}$ are called degenerate Cauchy numbers of the fourth kind.

How to cite this paper: Xiao-Qian Tian and Wuylingaowa (2023) Some identities involving degenerate Cauchy numbers and polynomials of the fourth kind. Journal of Progressive Research in Mathematics, 20(1), 136-152. Retrieved from http://scitecresearch.com/journals/index.php/jprm/article/view/2203

For convenience, let us recall some definitions. we give the definitions of the generating functions of several combinatorial sequences used in this paper[2, 3, 4, 5, 6, 7, 8, 9].

The generating function of the Cauchy number of the second kind is defined as follows:

$$\sum_{n=0}^{\infty} C_n^* \frac{t^n}{n!} = \frac{-t}{(1-t)\ln(1-t)},\tag{2}$$

The generating function of the degenerate Cauchy polynomial of the first kind is defined as follows:

$$\sum_{n=0}^{\infty} C_{n,\lambda}(x) \frac{t^n}{n!} = \frac{\frac{1}{\lambda} \ln(1+\lambda t)}{\ln(1+\frac{1}{\lambda} \ln(1+\lambda t))} (1+\frac{1}{\lambda} \ln(1+\lambda t))^x,$$
(3)

The generating function of the degenerate Cauchy polynomial of the second kind is defined as follows:

$$\sum_{n=0}^{\infty} C_{n,\lambda,2}(x) \frac{t^n}{n!} = \frac{t}{\ln(1 + \frac{1}{\lambda}\ln(1 + \lambda t))} (1 + \frac{1}{\lambda}\ln(1 + \lambda t))^x, \tag{4}$$

The generating function of the degenerate Cauchy polynomial of the third kind is defined as follows:

$$\sum_{n=0}^{\infty} C_{n,\lambda,3}(x) \frac{t^n}{n!} = \frac{\lambda((1+\lambda \ln(1+t))^{\frac{1}{\lambda}} - 1)}{\ln(1+\lambda \ln(1+t))} (1+\lambda \ln(1+t))^{\frac{x}{\lambda}},\tag{5}$$

The generating function of Stirling numbers of the first kind is defined as follows:

$$\sum_{n=k}^{\infty} s(n,k) \frac{t^n}{n!} = \frac{(\ln(1+t))^k}{k!},\tag{6}$$

The generating function of unsigned Stirling numbers of the first kind is defined as follows:

$$\sum_{n=k}^{\infty} |s(n,k)| \, \frac{t^n}{n!} = \frac{(\ln \frac{1}{1-t})^k}{k!},\tag{7}$$

The generating function of Stirling numbers of the second kind is defined as follows:

$$\sum_{n=0}^{\infty} S(n,k) \frac{t^n}{n!} = \frac{(e^t - 1)^k}{k!},$$
(8)

The generating function of degenerate Stirling numbers of the first kind is defined as follows:

$$\sum_{n=-k}^{\infty} S_{1,\lambda}(n,k) \frac{t^n}{n!} = \frac{\left(\frac{1}{\lambda} [(1+t)^{\lambda} - 1]\right)^k}{k!},\tag{9}$$

The generating function of degenerate Stirling numbers of the second kind is defined as follows:

$$\sum_{n=1}^{\infty} S_{2,\lambda}(n,k) \frac{t^n}{n!} = \frac{((1+\lambda t)^{\frac{1}{\lambda}} - 1)^k}{k!},\tag{10}$$

The generating function of generalized Stirling numbers of the second kind is defined as follows:

$$\sum_{n=k}^{\infty} S_2(n,k,r) \frac{t^n}{n!} = e^{rt} \frac{(e^t - 1)^k}{k!},\tag{11}$$

The generating function of generalized Bell numbers of the first kind is defined as follows:

$$\sum_{n=k}^{\infty} B(n,k) \frac{t^n}{n!} = \frac{(e^{e^t - 1} - 1)^k}{k!},\tag{12}$$

The generating function of generalized Bell numbers of the second kind is defined as follows:

$$\sum_{n=k}^{\infty} \beta(n,k) \frac{t^n}{n!} = \frac{(\ln(1+(\ln(1+t)))^k}{k!},\tag{13}$$

The generating function of Lah numbers is defined as follows:

$$\sum_{n=k}^{\infty} L(n,k) \frac{t^n}{n!} = \frac{1}{k!} (\frac{-t}{1+t})^k, \tag{14}$$

The generating function of the classical Daehee polynomials is defined as follows:

$$\sum_{n=0}^{\infty} D_n(x) \frac{t^n}{n!} = \frac{\ln(1+t)}{t} (1+t)^x, \tag{15}$$

The generating function of λ -Daehee numbers is defined as follows:

$$\sum_{n=0}^{\infty} D_{n,\lambda} \frac{t^n}{n!} = \frac{\lambda \ln(1+t)}{(1+t)^{\lambda} - 1},\tag{16}$$

The generating function of degenerate Daehee numbers is defined as follows:

$$\sum_{n=0}^{\infty} d_{n,\lambda} \frac{t^n}{n!} = \frac{\ln(1+t)}{\ln(1+\lambda t)^{\frac{1}{\lambda}}},\tag{17}$$

The generating function of completely degenerate Daehee numbers is defined as follows:

$$\sum_{n=0}^{\infty} d_{n,\lambda}^* \frac{t^n}{n!} = \frac{(1+t)^{\lambda} - 1}{\ln(1+\lambda t)},\tag{18}$$

The generating function of degenerate Bernoulli numbers is defined as follows:

$$\sum_{n=0}^{\infty} \beta_{n,\lambda} \frac{t^n}{n!} = \frac{t}{(1+\lambda t)^{\frac{1}{\lambda}} - 1},\tag{19}$$

A Riordan array [10] is a pair (g(t), h(t)) of formal power series with $h_0 = h(0) = 0$. It defines an infinite lower triangular array $(d_{n,k})_{n,k \in \mathbb{N}}$ according to the rule

$$d_{n,k} = [t^n]g(t)(h(t))^k.$$

Hence we write $\{d_{n,k}\}=(g(t),h(t))$. Moreover, if (g(t),h(t)) is a Riordan array and f(t) is the generating function of the sequence $\{f_k\}_{k\in N}$, i.e., $f(t)=\sum_{k=0}^{\infty}f_kt^k$, then we have

$$\sum_{k=0}^{\infty} d_{n,k} f_k = [t^n] g(t) f(h(t)) = [t^n] g(t) [f(y) \mid y = h(t)], \tag{20}$$

Furthermore, we give the inverse form of the Stiring number. Let f, g be functions defined on the set of positive integers, then

$$g_n = \sum_{k=0}^n s(n,k) f_k \iff f_n = \sum_{k=0}^n S(n,k) g_k,$$
 (21)

$$g_n = \sum_{k=0}^n S_1(n,k;r) f_k \iff f_n = \sum_{k=0}^n S_2(n,k;r) g_k,$$
 (22)

2. The relationship between the degenerate Cauchy polynomials of the fourth kind and some combination numbers and their polynomials

First, the degenerate Cauchy polynomials of the fourth kind are represented by the generating function method with some combinatorial numbers and a constant equation between the polynomials.

Theorem 1. Let $n \geq 0$ be integers. Then

$$C_{n,\lambda,4}(x) = \sum_{r+h+l=0}^{n} \sum_{k=0}^{h} \binom{n}{r,h,l} C_{r,\lambda,3}(x) \beta_{k,\lambda} s(h,k) C_{l}.$$
 (23)

Proof. By applying (5), (6) and (19), we get

$$\sum_{n=0}^{\infty} C_{n,\lambda,4}(x) \frac{t^n}{n!} = \frac{\lambda t}{\ln(1+\lambda \ln(1+t))} (1+\lambda \ln(1+t))^{\frac{x}{\lambda}}$$

$$= \frac{\lambda ((1+\lambda \ln(1+t))^{\frac{1}{\lambda}}-1)}{\ln(1+\lambda \ln(1+t))} \frac{\ln(1+t)}{(1+\lambda \ln(1+t))^{\frac{1}{\lambda}}-1} \frac{t}{\ln(1+t)} (1+\lambda \ln(1+t))^{\frac{x}{\lambda}}$$

$$= \left(\sum_{n=0}^{\infty} C_{n,\lambda,3}(x) \frac{t^n}{n!}\right) \left(\sum_{k=0}^{\infty} \beta_{k,\lambda} \frac{\ln(1+t))^k}{k!}\right) \left(\sum_{n=0}^{\infty} C_n \frac{t^n}{n!}\right)$$

$$= \left(\sum_{n=0}^{\infty} C_{n,\lambda,3}(x) \frac{t^n}{n!}\right) \left(\sum_{k=0}^{\infty} \beta_{k,\lambda} \sum_{n=k}^{\infty} s(n,k) \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} C_n \frac{t^n}{n!}\right)$$

$$= \left(\sum_{n=0}^{\infty} C_{n,\lambda,3}(x) \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} \sum_{k=0}^{n} \beta_{k,\lambda} s(n,k) \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} C_n \frac{t^n}{n!}\right)$$

$$= \sum_{n=0}^{\infty} \sum_{n=0}^{\infty} \sum_{k=0}^{n} \sum_{k=0}^{n} \binom{n}{r,h,l} C_{r,\lambda,3}(x) \beta_{k,\lambda} s(h,k) C_l \frac{t^n}{n!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the equation is easy to prove the theorem.

Corollary 1. The following relations hold:

$$C_{n,\lambda,4} = \sum_{r+h+l=0}^{n} \sum_{k=0}^{h} \binom{n}{r,h,l} C_{r,\lambda,3} \beta_{k,\lambda} s(h,k) C_{l}.$$
 (24)

Proof. Setting x = 0 in (23), we get (24).

Theorem 2. Let $n \geq 0$ be integers. Then

$$C_{n,\lambda,4}(x) = \sum_{k=0}^{n} \sum_{j=0}^{k} \sum_{l=0}^{j} \binom{n}{k} \binom{j}{l} C_{j-l}^{*} (\frac{x+\lambda}{\lambda})_{j} (-1)^{j-l} \lambda^{j} s(k,j) C_{n-k}.$$
 (25)

Proof. By applying (2), (6), we get

$$\begin{split} &\sum_{n=0}^{\infty} C_{n,\lambda,4}(x) \frac{t^n}{n!} = \frac{\lambda t}{\ln(1+\lambda \ln(1+t))} (1+\lambda \ln(1+t))^{\frac{x}{\lambda}} \\ &= \frac{\lambda \ln(1+t)}{(1+\lambda \ln(1+t)) \ln(1+\lambda \ln(1+t))} \frac{t}{\ln(1+t)} (1+\lambda \ln(1+t))^{\frac{x+\lambda}{\lambda}} \\ &= \left(\sum_{j=0}^{\infty} C_j^*(-\lambda)^j \frac{(\ln(1+t))^j}{j!}\right) \left(\sum_{j=0}^{\infty} (\frac{x+\lambda}{\lambda})_j \lambda^j \frac{(\ln(1+t))^j}{j!}\right) \left(\sum_{n=0}^{\infty} C_n \frac{t^n}{n!}\right) \\ &= \left(\sum_{j=0}^{\infty} \sum_{l=0}^{j} \binom{j}{l} C_{j-l}^* (\frac{x+\lambda}{\lambda})_j (-\lambda)^{j-l} \lambda^l \frac{(\ln(1+t))^j}{j!}\right) \left(\sum_{n=0}^{\infty} C_n \frac{t^n}{n!}\right) \\ &= \left(\sum_{j=0}^{\infty} \sum_{l=0}^{j} \binom{j}{l} C_{j-l}^* (\frac{x+\lambda}{\lambda})_j (-1)^{j-l} \lambda^j \sum_{n=j}^{\infty} s(n,j) \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} C_n \frac{t^n}{n!}\right) \\ &= \left(\sum_{n=0}^{\infty} \sum_{j=0}^{n} \sum_{l=0}^{j} \binom{j}{l} C_{j-l}^* (\frac{x+\lambda}{\lambda})_j (-1)^{j-l} \lambda^j s(n,j) \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} C_n \frac{t^n}{n!}\right) \\ &= \sum_{n=0}^{\infty} \sum_{k=0}^{n} \sum_{j=0}^{k} \sum_{l=0}^{j} \binom{n}{k} \binom{j}{l} C_{j-l}^* (\frac{x+\lambda}{\lambda})_j (-1)^{j-l} \lambda^j s(k,j) C_{n-k} \frac{t^n}{n!}. \end{split}$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the equation is easy to prove the theorem.

Corollary 2. The following relations hold:

$$C_{n,\lambda,4} = \sum_{k=0}^{n} \sum_{j=0}^{k} \sum_{l=0}^{j} \binom{n}{k} \binom{j}{l} C_{j-l}^{*}(1)_{j} (-1)^{j-l} \lambda^{j} s(k,j) C_{n-k}. \tag{26}$$

Proof. Setting x = 0 in (25), we get (26).

Theorem 3. Let $n \geq 0$ be integers. Then

$$C_{n,\frac{1}{\lambda},4}(x) = \sum_{k=0}^{n} \sum_{j=0}^{k} {n \choose k} \lambda^{k-n-j} (\lambda x)_{j} C_{n-k,\lambda,2} s(k,j).$$
(27)

Proof. By applying (4), (6), we get

$$\begin{split} &\sum_{n=0}^{\infty} C_{n,\frac{1}{\lambda},4}(x) \frac{t^n}{n!} = \frac{\frac{1}{\lambda}t}{\ln(1+\frac{1}{\lambda}\ln(1+t))} (1+\frac{1}{\lambda}\ln(1+t))^{\lambda x} \\ &= \sum_{n=0}^{\infty} \frac{C_{n,\lambda,2}}{\lambda^n} \frac{t^n}{n!} \sum_{j=0}^{\infty} (\lambda x)_j \lambda^{-j} \frac{(\ln(1+t))^j}{j!} \end{split}$$

$$= \left(\sum_{n=0}^{\infty} \frac{C_{n,\lambda,2}}{\lambda^n} \frac{t^n}{n!}\right) \left(\sum_{j=0}^{\infty} (\lambda x)_j \lambda^{-j} \sum_{n=j}^{\infty} s(n,j) \frac{t^n}{n!}\right)$$

$$= \left(\sum_{n=0}^{\infty} \frac{C_{n,\lambda,2}}{\lambda^n} \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} \sum_{j=0}^{n} (\lambda x)_j \lambda^{-j} s(n,j) \frac{t^n}{n!}\right)$$

$$= \sum_{n=0}^{\infty} \sum_{k=0}^{n} \sum_{j=0}^{k} \binom{n}{k} \lambda^{k-n-j} (\lambda x)_j C_{n-k,\lambda,2} s(k,j) \frac{t^n}{n!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the equation is easy to prove the theorem.

Theorem 4. Let $n \geq 0$ be integers. Then

$$C_{n,\lambda,4}(x+y) = \sum_{k=0}^{n} \sum_{j=0}^{k} \sum_{l=0}^{j} \binom{n}{k} S_{1,\lambda}(j,l) y^{l} s(k,j) C_{n-k,\lambda,4}(x).$$
 (28)

Proof. By applying (6), (9), we get

$$\sum_{n=0}^{\infty} C_{n,\lambda,4}(x+y) \frac{t^n}{n!} = \frac{\lambda t}{\ln(1+\lambda\ln(1+t))} (1+\lambda\ln(1+t))^{\frac{x+y}{\lambda}}$$

$$= \frac{\lambda t}{\ln(1+\lambda\ln(1+t))} (1+\lambda\ln(1+t))^{\frac{x}{\lambda}} (1+\lambda\ln(1+t))^{\frac{y}{\lambda}}$$

$$= \left(\sum_{n=0}^{\infty} C_{n,\lambda,4}(x) \frac{t^n}{n!}\right) \left(\sum_{j=0}^{\infty} (\frac{y}{\lambda})_j \lambda^j \frac{(\ln(1+t))^j}{j!}\right)$$

$$= \left(\sum_{n=0}^{\infty} C_{n,\lambda,4}(x) \frac{t^n}{n!}\right) \left(\sum_{j=0}^{\infty} (\frac{y}{\lambda})_j \lambda^j \sum_{n=j}^{\infty} s(n,j) \frac{t^n}{n!}\right)$$

$$= \left(\sum_{n=0}^{\infty} C_{n,\lambda,4}(x) \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} \sum_{j=0}^{n} (\frac{y}{\lambda})_j \lambda^j s(n,j) \frac{t^n}{n!}\right)$$

$$= \sum_{n=0}^{\infty} \sum_{k=0}^{n} \sum_{j=0}^{k} \binom{n}{k} (\frac{y}{\lambda})_j \lambda^j s(k,j) C_{n-k,\lambda,4}(x) \frac{t^n}{n!}$$

$$= \sum_{n=0}^{\infty} \sum_{k=0}^{n} \sum_{j=0}^{k} \binom{n}{k} (y)_{j,\lambda} \lambda^{-j} \lambda^j s(k,j) C_{n-k,\lambda,4}(x) \frac{t^n}{n!}$$

$$= \sum_{n=0}^{\infty} \sum_{k=0}^{n} \sum_{j=0}^{k} \sum_{k=0}^{n} \binom{n}{k} (y)_{j,\lambda} \lambda^{-j} \lambda^j s(k,j) C_{n-k,\lambda,4}(x) \frac{t^n}{n!}$$

$$= \sum_{n=0}^{\infty} \sum_{k=0}^{n} \sum_{j=0}^{k} \binom{n}{k} (y)_{j,\lambda} \lambda^{-j} \lambda^j s(k,j) C_{n-k,\lambda,4}(x) \frac{t^n}{n!}$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the equation is easy to prove the theorem.

Corollary 3. The following relations hold:

$$C_{n,\lambda,4}(1) = \sum_{k=0}^{n} \sum_{j=0}^{k} \sum_{l=0}^{j} \binom{n}{k} S_{1,\lambda}(j,l) s(k,j) C_{n-k,\lambda,4}. \tag{29}$$

Proof. Setting x = 0, y = 1 in (28), we get (29).

Theorem 5. Let $n \geq 0$ be integers. Then

$$(-1)^n C_{n,\lambda,4}(x) = \sum_{k=0}^n \sum_{j=0}^k \binom{n}{k} (-1)^{n-j-k} \lambda^j C_{n-k} C_j(\frac{x}{\lambda}) |s(k,j)|.$$
 (30)

Proof. By applying (7), we get

$$\sum_{n=0}^{\infty} (-1)^n C_{n,\lambda,4}(x) \frac{t^n}{n!} = \frac{-\lambda t}{\ln(1+\lambda \ln(1-t))} (1+\lambda \ln(1-t))^{\frac{x}{\lambda}}$$

$$= \frac{\lambda \ln(1-t)}{\ln(1+\lambda \ln(1-t))} \frac{-t}{\ln(1-t)} (1+\lambda \ln(1-t))^{\frac{x}{\lambda}}$$

$$= \left(\sum_{j=0}^{\infty} C_j(\frac{x}{\lambda}) \lambda^j \frac{(\ln(1-t))^j}{j!} \right) \left(\sum_{n=0}^{\infty} C_n \frac{(-t)^n}{n!} \right)$$

$$= \left(\sum_{j=0}^{\infty} C_j(\frac{x}{\lambda}) \lambda^j (-1)^{-j} \sum_{n=j}^{\infty} |s(n,j)| \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} (-1)^n C_n \frac{t^n}{n!} \right)$$

$$= \left(\sum_{n=0}^{\infty} \sum_{j=0}^{n} C_j(\frac{x}{\lambda}) \lambda^j (-1)^{-j} |s(n,j)| \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} (-1)^n C_n \frac{t^n}{n!} \right)$$

$$= \sum_{n=0}^{\infty} \sum_{k=0}^{n} \sum_{j=0}^{k} \binom{n}{k} \lambda^j (-1)^{-j} C_j(\frac{x}{\lambda}) |s(k,j)| (-1)^{n-k} C_{n-k} \frac{t^n}{n!}$$

$$= \sum_{n=0}^{\infty} \sum_{k=0}^{n} \sum_{j=0}^{k} \binom{n}{k} (-1)^{n-j-k} \lambda^j C_{n-k} C_j(\frac{x}{\lambda}) |s(k,j)| \frac{t^n}{n!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the equation is easy to prove the theorem.

Corollary 4. The following relations hold:

$$(-1)^n C_{n,\lambda,4} = \sum_{k=0}^n \sum_{j=0}^k \binom{n}{k} (-1)^{n-j-k} \lambda^j C_{n-k} C_j |s(k,j)|.$$
(31)

Proof. Setting x = 0 in (30), we get (31).

Theorem 6. Let $n \geq 0$ be integers. Then

$$C_{n,\lambda,4}(x) - C_{n,\lambda,4} = \sum_{k=0}^{n-1} \sum_{j=0}^{k} {k \choose j} n \frac{\lambda^{k+1}}{j+1} (\frac{x}{\lambda})_{j+1} C_{k-j} s(n-1,k).$$
 (32)

Proof. By applying (6), we get

$$\sum_{n=0}^{\infty} \left(C_{n,\lambda,4}(x) - C_{n,\lambda,4} \right) \frac{t^n}{n!} = \frac{\lambda t}{\ln(1+\lambda\ln(1+t))} \left((1+\lambda\ln(1+t))^{\frac{x}{\lambda}} - 1 \right)$$
$$= \frac{\lambda \ln(1+t)}{\ln(1+\lambda\ln(1+t))} \frac{t}{\ln(1+t)} \left((1+\lambda\ln(1+t))^{\frac{x}{\lambda}} - 1 \right)$$

$$= t \left(\sum_{k=0}^{\infty} C_k \lambda^k \frac{(\ln(1+t))^k}{k!} \right) \left(\sum_{k=1}^{\infty} (\frac{x}{\lambda})_k \lambda^k \frac{(\ln(1+t))^{k-1}}{k!} \right)$$

$$= t \left(\sum_{k=0}^{\infty} C_k \lambda^k \frac{(\ln(1+t))^k}{k!} \right) \left(\sum_{k=0}^{\infty} (\frac{x}{\lambda})_{k+1} \frac{\lambda^{k+1}}{k+1} \frac{(\ln(1+t))^k}{k!} \right)$$

$$= t \sum_{k=0}^{\infty} \sum_{j=0}^{k} {k \choose j} \frac{\lambda^{k+1}}{j+1} (\frac{x}{\lambda})_{j+1} C_{k-j} \frac{(\ln(1+t))^k}{k!}$$

$$= \sum_{k=0}^{\infty} \sum_{j=0}^{k} {k \choose j} \frac{\lambda^{k+1}}{j+1} (\frac{x}{\lambda})_{j+1} C_{k-j} \sum_{n=k}^{\infty} s(n,k) \frac{t^{n+1}}{n!}$$

$$= \sum_{n=0}^{\infty} \sum_{k=0}^{n} \sum_{j=0}^{k} {k \choose j} \frac{\lambda^{k+1}}{j+1} (\frac{x}{\lambda})_{j+1} C_{k-j} s(n,k) \frac{t^{n+1}}{n!}$$

$$= \sum_{n=1}^{\infty} \sum_{k=0}^{n-1} \sum_{j=0}^{k} {k \choose j} n \frac{\lambda^{k+1}}{j+1} (\frac{x}{\lambda})_{j+1} C_{k-j} s(n-1,k) \frac{t^n}{n!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the equation is easy to prove the theorem.

Theorem 7. Let $n \geq 0$ be integers. Then

$$\sum_{m=0}^{n} C_{m,\lambda,4}(x)s(n,m) = \sum_{k=0}^{n} \sum_{i=0}^{n-k} \sum_{j=0}^{k} \binom{n}{k} \lambda^{i} C_{j} C_{i}(\frac{x}{\lambda}) \beta(n-k,i)s(k,j).$$
(33)

Proof. By applying (6), (13), we get

$$\begin{split} &\sum_{n=0}^{\infty} C_{n,\lambda,4}(x) \frac{(\ln(1+t))^n}{n!} = \frac{\lambda \ln(1+t)}{\ln(1+\lambda \ln(1+\ln(1+t)))} (1+\lambda \ln(1+\ln(1+t)))^{\frac{x}{\lambda}} \\ &= \frac{\lambda \ln(1+\ln(1+t))}{\ln(1+\lambda \ln(1+\ln(1+t)))} \frac{\ln(1+t)}{\ln(1+\ln(1+t))} (1+\lambda \ln(1+\ln(1+t)))^{\frac{x}{\lambda}} \\ &= \sum_{i=0}^{\infty} C_i(\frac{x}{\lambda}) \frac{\lambda^i (\ln(1+\ln(1+t)))^i}{i!} \sum_{j=0}^{\infty} C_j \frac{(\ln(1+t))^j}{j!} \\ &= \left(\sum_{i=0}^{\infty} C_i(\frac{x}{\lambda}) \lambda^i \sum_{n=i}^{\infty} \beta(n,i) \frac{t^n}{n!}\right) \left(\sum_{j=0}^{\infty} C_j \sum_{n=j}^{\infty} s(n,j) \frac{t^n}{n!}\right) \\ &= \left(\sum_{n=0}^{\infty} \sum_{i=0}^{n} \lambda^i C_i(\frac{x}{\lambda}) \beta(n,i) \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} \sum_{j=0}^{n} C_j s(n,j) \frac{t^n}{n!}\right) \\ &= \sum_{n=0}^{\infty} \sum_{k=0}^{n} \sum_{i=0}^{n-k} \sum_{j=0}^{k} \binom{n}{k} \lambda^i C_j C_i(\frac{x}{\lambda}) \beta(n-k,i) s(k,j) \frac{t^n}{n!} \\ &\sum_{n=0}^{\infty} C_{m,\lambda,4}(x) \frac{(\ln(1+t))^m}{m!} = \sum_{n=0}^{\infty} C_{m,\lambda,4}(x) \sum_{n=0}^{\infty} s(n,n) \frac{t^n}{n!} \end{split}$$

$$= \sum_{n=0}^{\infty} \sum_{m=0}^{n} C_{m,\lambda,4}(x) s(n,m) \frac{t^{n}}{n!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the equation is easy to prove the theorem.

Corollary 5. The following relations hold:

$$\sum_{m=0}^{n} C_{m,\lambda,4} s(n,m) = \sum_{k=0}^{n} \sum_{i=0}^{n-k} \sum_{j=0}^{k} \binom{n}{k} \lambda^{i} C_{j} C_{i} \beta(n-k,i) s(k,j).$$
(34)

Proof. Setting x = 0 in (33), we get (34).

Corollary 6. The following relations hold:

$$C_{n,\lambda,4}(x) = \sum_{k=0}^{n} \sum_{k=0}^{k} \sum_{i=0}^{k-h} \sum_{j=0}^{h} \binom{k}{h} S(n,k) \lambda^{i} C_{j} C_{i}(\frac{x}{\lambda}) \beta(k-h,i) s(h,j).$$
 (35)

Proof. By applying (21), we get (35).

Corollary 7. The following relations hold:

$$C_{n,\lambda,4} = \sum_{k=0}^{n} \sum_{h=0}^{k} \sum_{i=0}^{k-h} \sum_{j=0}^{h} {k \choose h} S(n,k) \lambda^{i} C_{j} C_{i} \beta(k-h,i) s(h,j).$$
(36)

Proof. Setting x = 0 in (35), we get (36).

Theorem 8. Let $n \geq 0$ be integers. Then

$$\sum_{r+h+l=0}^{n} \sum_{m=0}^{h} {n \choose r, h, l} \frac{\lambda^{-m} S(h, m)}{(r+1)(m+1)} = \sum_{m=0}^{n} \sum_{l=0}^{m} C_{m, \lambda, 4}(x) S(m, l) S(n, m) \lambda^{-m}.$$
(37)

Proof. By applying (8), let $t=e^{\frac{e^t-1}{\lambda}}-1$, we get

$$\sum_{n=0}^{\infty} C_{n,\lambda,4}(x) \frac{\left(e^{\frac{e^t - 1}{\lambda}} - 1\right)^n}{n!} = \frac{\lambda \left(e^{\frac{e^t - 1}{\lambda}} - 1\right)}{t} e^t$$

$$= \frac{\lambda}{t} \left(\sum_{m=0}^{\infty} \frac{\left(\frac{e^t - 1}{\lambda}\right)^m}{m!} - 1\right) e^t = \frac{\lambda}{t} \sum_{m=1}^{\infty} \frac{\left(\frac{e^t - 1}{\lambda}\right)^m}{m!} e^t$$

$$= \frac{1}{t} \sum_{m=0}^{\infty} \frac{\lambda^{-m} (e^t - 1)^{m+1}}{(m+1)!} e^t = \frac{1}{t} (e^t - 1) \sum_{m=0}^{\infty} \frac{\lambda^{-m}}{m+1} \frac{(e^t - 1)^m}{m!} e^t$$

$$= \frac{1}{t} \left(\sum_{n=1}^{\infty} \frac{t^n}{n!}\right) \left(\sum_{m=0}^{\infty} \frac{\lambda^{-m}}{m+1} \sum_{n=m}^{\infty} S(n, m) \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} \frac{t^n}{n!}\right)$$

$$= \left(\sum_{n=0}^{\infty} \frac{1}{n+1} \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} \sum_{m=0}^{n} \frac{\lambda^{-m} S(n, m)}{m+1} \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} \frac{t^n}{n!}\right)$$

$$= \sum_{n=0}^{\infty} \sum_{r+h+l=0}^{n} \sum_{m=0}^{h} \binom{n}{r, h, l} \frac{\lambda^{-m} S(h, m)}{(r+1)(m+1)} \frac{t^n}{n!}$$

$$\sum_{m=0}^{\infty} C_{m,\lambda,4}(x) \frac{\left(e^{\frac{e^t-1}{\lambda}}-1\right)^m}{m!} = \sum_{m=0}^{\infty} C_{m,\lambda,4}(x) \sum_{m=l}^{\infty} S(m,l) \frac{\left(\frac{e^t-1}{\lambda}\right)^m}{m!}$$

$$= \sum_{m=0}^{\infty} C_{m,\lambda,4}(x) \sum_{m=l}^{\infty} S(m,l) \sum_{n=m}^{\infty} S(n,m) \lambda^{-m} \frac{t^n}{n!}$$

$$= \sum_{n=0}^{\infty} \sum_{m=0}^{n} \sum_{l=0}^{m} C_{m,\lambda,4}(x) S(m,l) S(n,m) \lambda^{-m} \frac{t^n}{n!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the equation is easy to prove the theorem.

Corollary 8. The following relations hold:

$$\sum_{r+h+l=0}^{n} \sum_{m=0}^{h} {n \choose r, h, l} \frac{\lambda^{-m} S(h, m)}{(r+1)(m+1)} = \sum_{m=0}^{n} \sum_{l=0}^{m} C_{m, \lambda, 4} S(m, l) S(n, m) \lambda^{-m}.$$
(38)

Proof. Setting x = 0 in (37), we get(38).

Theorem 9. Let $n \geq 0$ be integers. Then

$$\sum_{k=0}^{n} \binom{n}{k} D_{n-k,\lambda} C_{k,\lambda,4} = \sum_{k=0}^{n} \sum_{j=0}^{k} \binom{n}{k} C_j \lambda^{k-n+j} s(k,j) \beta_{n-k,\frac{1}{\lambda}}.$$
 (39)

Proof. By applying (6), (16) and (19), we get

$$\sum_{n=0}^{\infty} \sum_{k=0}^{n} \binom{n}{k} D_{n-k,\lambda} C_{k,\lambda,4} \frac{t^n}{n!} = \left(\sum_{n=0}^{\infty} D_{n,\lambda} \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} C_{n,\lambda,4} \frac{t^n}{n!}\right)$$

$$= \frac{\lambda \ln(1+t)}{(1+t)^{\lambda} - 1} \frac{\lambda t}{\ln(1+\lambda \ln(1+t))} = \frac{\lambda t}{(1+t)^{\lambda} - 1} \frac{\lambda \ln(1+t)}{\ln(1+\lambda \ln(1+t))}$$

$$= \sum_{j=0}^{\infty} C_j \lambda^j \frac{(\ln(1+t))^j}{j!} \sum_{n=0}^{\infty} \beta_{n,\frac{1}{\lambda}} \lambda^n \frac{t^n}{n!}$$

$$= \left(\sum_{j=0}^{\infty} C_j \lambda^j \sum_{n=j}^{\infty} s(n,j) \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} \beta_{n,\frac{1}{\lambda}} \lambda^n \frac{t^n}{n!}\right)$$

$$= \left(\sum_{n=0}^{\infty} \sum_{j=0}^{n} C_j \lambda^j s(n,j) \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} \beta_{n,\frac{1}{\lambda}} \lambda^n \frac{t^n}{n!}\right)$$

$$= \sum_{n=0}^{\infty} \sum_{k=0}^{n} \sum_{j=0}^{k} \binom{n}{k} C_j \lambda^{n-k+j} s(k,j) \beta_{n-k,\frac{1}{\lambda}} \frac{t^n}{n!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the equation is easy to prove the theorem.

Second, the identity between degenerate Cauchy polynomials of the fourth kind and degenerate Stiring number, degenerate Daehee number, generalized Stiring number, Lah number, generalized Bell number and their polynomials is studied by using the method of Riordan matrix.

Theorem 10. Let $n \geq 0$ be integers. Then

$$\sum_{k=0}^{n} S_{2,\lambda}(n,k) C_{k,\lambda,4}(x) = \sum_{r+h+l=0}^{n} \sum_{j=0}^{r} \binom{n}{r,h,l} C_{j}(\frac{x}{\lambda}) s(r,j) \lambda^{r+h} d_{h,\frac{1}{\lambda}}^{*} d_{l,\lambda}. \tag{40}$$

Proof. For $\left\{\frac{k!}{n!}S_{2,\lambda(n,k)}\right\} = (1,(1+\lambda t)^{\frac{1}{\lambda}}-1)$, by applying (20), we get

$$\begin{split} &\sum_{k=0}^{n} S_{2,\lambda}(n,k) C_{k,\lambda,4}(x) = n! \sum_{k=0}^{n} \frac{k!}{n!} S_{2,\lambda}(n,k) \frac{C_{k,\lambda,4}(x)}{k!} \\ &= n! [t^n] \frac{\lambda y}{\ln(1+\lambda\ln(1+y))} (1+\lambda\ln(1+y))^{\frac{x}{\lambda}} (y = (1+\lambda t)^{\frac{1}{\lambda}}-1)) \\ &= n! [t^n] \frac{\lambda ((1+\lambda t)^{\frac{1}{\lambda}}-1)}{\ln(1+\ln(1+\lambda t))} (1+\ln(1+\lambda t))^{\frac{x}{\lambda}} \\ &= n! [t^n] \frac{\ln(1+\lambda t)}{\ln(1+\ln(1+\lambda t))} \frac{(1+\lambda t)^{\frac{1}{\lambda}}-1}{\ln(1+t)} \frac{\lambda \ln(1+t)}{\ln(1+\lambda t)} (1+\ln(1+\lambda t))^{\frac{x}{\lambda}} \\ &= n! [t^n] \left(\sum_{j=0}^{\infty} C_j (\frac{x}{\lambda}) \frac{(\ln(1+\lambda t))^j}{j!} \right) \left(\sum_{n=0}^{\infty} d_{n,\frac{1}{\lambda}}^* \lambda^n \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} d_{n,\lambda} \frac{t^n}{n!} \right) \\ &= n! [t^n] \left(\sum_{j=0}^{\infty} C_j (\frac{x}{\lambda}) \sum_{n=j}^{\infty} s(n,j) \lambda^n \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} d_{n,\frac{1}{\lambda}}^* \lambda^n \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} d_{n,\lambda} \frac{t^n}{n!} \right) \\ &= n! [t^n] \left(\sum_{n=0}^{\infty} \sum_{j=0}^{n} C_j (\frac{x}{\lambda}) s(n,j) \lambda^n \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} d_{n,\frac{1}{\lambda}}^* \lambda^n \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} d_{n,\lambda} \frac{t^n}{n!} \right) \\ &= n! [t^n] \sum_{n=0}^{\infty} \sum_{r+h+l=0}^{n} \sum_{j=0}^{r} \binom{n}{r,h,l} C_j (\frac{x}{\lambda}) s(r,j) \lambda^{r+h} d_{h,\frac{1}{\lambda}}^* d_{l,\lambda} \frac{t^n}{n!} \\ &= \sum_{r+h+l=0}^{n} \sum_{j=0}^{r} \binom{n}{r,h,l} C_j (\frac{x}{\lambda}) s(r,j) \lambda^{r+h} d_{h,\frac{1}{\lambda}}^* d_{l,\lambda} \,. \end{split}$$

Corollary 9. The following relations hold:

$$\sum_{k=0}^{n} S_{2,\lambda}(n,k) C_{k,\lambda,4} = \sum_{r+h+l=0}^{n} \sum_{j=0}^{r} \binom{n}{r,h,l} C_{j} s(r,j) \lambda^{r+h} d_{h,\frac{1}{\lambda}}^{*} d_{l,\lambda}. \tag{41}$$

Proof. Setting x = 0 in (40), we get(41).

Theorem 11. Let $n \ge 0$ be integers. Then

$$\sum_{k=0}^{n} S_2(n,k,r) C_{k,\lambda,4}(x) = \sum_{i+j+l=0}^{n} \binom{n}{i,j,l} \frac{r^i \lambda^l}{j+1} C_l(\frac{x}{\lambda}).$$
 (42)

Proof. For $\left\{\frac{k!}{n!}S_2(n,k,r)\right\} = (e^{rt},e^t-1)$, by applying (20), we get

$$\sum_{k=0}^{n} S_{2}(n,k,r) C_{k,\lambda,4}(x) = n! \sum_{k=0}^{n} \frac{k!}{n!} S_{2}(n,k,r) \frac{C_{k,\lambda,4}(x)}{k!}$$

$$= n! [t^{n}] e^{rt} \frac{\lambda y}{\ln(1+\lambda \ln(1+y))} (1+\lambda \ln(1+y))^{\frac{x}{\lambda}} (y = e^{t} - 1)$$

$$= n! [t^{n}] e^{rt} \frac{\lambda (e^{t} - 1)}{\ln(1+\lambda t)} (1+\lambda t)^{\frac{x}{\lambda}}$$

$$= n! [t^{n}] \left(\sum_{n=0}^{\infty} r^{n} \frac{t^{n}}{n!} \right) \left(\sum_{n=1}^{\infty} \frac{t^{n-1}}{n!} \right) \left(\sum_{n=0}^{\infty} C_{n}(\frac{x}{\lambda}) \lambda^{n} \frac{t^{n}}{n!} \right)$$

$$= n! [t^{n}] \left(\sum_{n=0}^{\infty} r^{n} \frac{t^{n}}{n!} \right) \left(\sum_{n=0}^{\infty} \frac{1}{n+1} \frac{t^{n}}{n!} \right) \left(\sum_{n=0}^{\infty} C_{n}(\frac{x}{\lambda}) \lambda^{n} \frac{t^{n}}{n!} \right)$$

$$= n! [t^{n}] \sum_{n=0}^{\infty} \sum_{i+j+l=0}^{n} \binom{n}{i,j,l} \frac{r^{i}\lambda^{l}}{j+1} C_{l}(\frac{x}{\lambda}) \frac{t^{n}}{n!}$$

$$= \sum_{i+j+l=0}^{n} \binom{n}{i,j,l} \frac{r^{i}\lambda^{l}}{j+1} C_{l}(\frac{x}{\lambda}).$$

Corollary 10. The following relations hold:

$$\sum_{k=0}^{n} S_2(n,k,r) C_{k,\lambda,4} = \sum_{i+j+l=0}^{n} \binom{n}{i,j,l} \frac{r^i \lambda^l}{j+1} C_l.$$
(43)

Proof. Setting x = 0 in (42), we get(43).

Corollary 11. The following relations hold:

$$C_{n,\lambda,4}(x) = \sum_{k=0}^{n} \sum_{i,j,l=0}^{k} {k \choose i,j,l} S_1(n,k,r) \frac{r^i \lambda^l}{j+1} C_l(\frac{x}{\lambda}).$$
 (44)

Proof. By applying (22), we get (44).

Corollary 12. The following relations hold:

$$C_{n,\lambda,4} = \sum_{k=0}^{n} \sum_{i+j+l=0}^{n} {k \choose i,j,l} S_1(n,k,r) \frac{r^i \lambda^l}{j+1} C_l.$$
 (45)

Proof. Setting x = 0 in (44), we get(45).

Theorem 12. Let $n \ge 0$ be integers. Then

$$\sum_{k=0}^{n} L(n,k)C_{k,\lambda,4}(x) = \sum_{k=0}^{n} \sum_{j=0}^{k} \binom{n}{k} C_j(\frac{x}{\lambda}) (-1)^{n-k+j} \lambda^j s(k,j) C_{n-k}^*.$$
(46)

Proof. For $\left\{\frac{k!}{n!}L(n,k)\right\}=(1,\frac{-t}{1+t})$, by applying (20), we get

$$\begin{split} &\sum_{k=0}^{n} L(n,k)C_{k,\lambda,4}(x) = n! \sum_{k=0}^{n} \frac{k!}{n!} L(n,k) \frac{C_{k,\lambda,4}(x)}{k!} \\ &= n! [t^n] \frac{\lambda y}{\ln(1+\lambda\ln(1+y))} (1-\lambda\ln(1+y))^{\frac{x}{\lambda}} (y = \frac{-t}{1+t}) \\ &= n! [t^n] \frac{-\lambda t}{(1+t)\ln(1-\lambda\ln(1+t))} (1-\lambda\ln(1+t))^{\frac{x}{\lambda}} \\ &= n! [t^n] \frac{-\lambda\ln(1+t)}{\ln(1-\lambda\ln(1+t))} \frac{t}{(1+t)\ln(1+t)} (1-\lambda\ln(1+t))^{\frac{x}{\lambda}} \\ &= n! [t^n] \left(\sum_{j=0}^{\infty} C_j(\frac{x}{\lambda})(-\lambda)^j \frac{(\ln(1+t))^j}{j!} \right) \left(\sum_{n=0}^{\infty} (-1)^n C_n^* \frac{t^n}{n!} \right) \\ &= n! [t^n] \left(\sum_{j=0}^{\infty} C_j(\frac{x}{\lambda})(-\lambda)^j \sum_{n=j}^{\infty} s(n,j) \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} (-1)^n C_n^* \frac{t^n}{n!} \right) \\ &= n! [t^n] \left(\sum_{n=0}^{\infty} \sum_{j=0}^{n} C_j(\frac{x}{\lambda})(-\lambda)^j s(n,j) \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} (-1)^n C_n^* \frac{t^n}{n!} \right) \\ &= n! [t^n] \sum_{n=0}^{\infty} \sum_{j=0}^{n} \sum_{k=0}^{n} \sum_{j=0}^{k} \binom{n}{k} C_j(\frac{x}{\lambda})(-\lambda)^j s(k,j) (-1)^{n-k} C_{n-k}^* \frac{t^n}{n!} \\ &= \sum_{k=0}^{n} \sum_{j=0}^{k} \binom{n}{k} C_j(\frac{x}{\lambda})(-1)^{n-k+j} \lambda^j s(k,j) C_{n-k}^* \,. \end{split}$$

Corollary 13. The following relations hold:

$$\sum_{k=0}^{n} L(n,k)C_{k,\lambda,4} = \sum_{k=0}^{n} \sum_{j=0}^{k} \binom{n}{k} C_j (-1)^{n-k+j} \lambda^j s(k,j) C_{n-k}^*. \tag{47}$$

Proof. Setting x = 0 in (46), we get(47).

Theorem 13. Let $n \ge 0$ be integers. Then

$$\sum_{k=0}^{n} \sum_{j=0}^{k} S(n,k) L(k,j) C_{j,\lambda,4}(x) = \sum_{k=0}^{n} \binom{n}{k} \lambda^{k} C_{k}(\frac{x}{\lambda}) \frac{(-1)^{n}}{n-k+1}.$$
 (48)

Proof. By applying (46), we get

$$\sum_{k=0}^{n} L(n,k)C_{n,\lambda,4}(x) = n![t^n] \frac{-\lambda t}{(1+t)\ln(1-\lambda\ln(1+t))} (1-\lambda\ln(1+t))^{\frac{x}{\lambda}}.$$

For $\left\{\frac{k!}{n!}S(n,k)\right\}=(1,e^t-1)$, by applying (20), we get

$$\sum_{k=0}^{n} \sum_{j=0}^{k} S(n,k) L(k,j) C_{j,\lambda,4}(x) = n! \sum_{k=0}^{n} \frac{k!}{n!} S(n,k) \frac{\sum_{j=0}^{k} L(k,j) C_{j,\lambda,4}(x)}{k!}$$

$$= n![t^n] \frac{-\lambda y}{(1+y)\ln(1-\lambda\ln(1+y))} (1-\lambda\ln(1+y))^{\frac{x}{\lambda}} (y = e^t - 1) = n![t^n] \frac{-\lambda(e^t - 1)}{e^t \ln(1-\lambda t)} (1-\lambda t)^{\frac{x}{\lambda}}$$

$$= n![t^n] \frac{-\lambda}{\ln(1-\lambda t)} (1-e^{-t}) (1-\lambda t)^{\frac{x}{\lambda}} = n![t^n] \frac{-\lambda t}{\ln(1-\lambda t)} (-\frac{1}{t}) (e^{-t} - 1) (1-\lambda t)^{\frac{x}{\lambda}}$$

$$= n![t^n] \left(\sum_{n=0}^{\infty} C_n(\frac{x}{\lambda}) (-\lambda)^n \frac{t^n}{n!} \right) \left(\sum_{n=1}^{\infty} (-1)^{n+1} \frac{t^{n-1}}{n!} \right) = n![t^n] \left(\sum_{n=0}^{\infty} C_n(\frac{x}{\lambda}) (-\lambda)^n \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} \frac{(-1)^n}{n+1} \frac{t^n}{n!} \right)$$

$$= n![t^n] \sum_{n=0}^{\infty} \sum_{k=0}^{n} \binom{n}{k} \lambda^k C_k(\frac{x}{\lambda}) \frac{(-1)^n}{n-k+1} \frac{t^n}{n!} = \sum_{k=0}^{n} \binom{n}{k} \lambda^k C_k(\frac{x}{\lambda}) \frac{(-1)^n}{n-k+1}.$$

Corollary 14. The following relations hold:

$$\sum_{k=0}^{n} \sum_{j=0}^{k} S(n,k) L(k,j) C_{j,\lambda,4} = \sum_{k=0}^{n} {n \choose k} \lambda^{k} C_{k} \frac{(-1)^{n}}{n-k+1}.$$
(49)

Proof. Setting x = 0 in (48), we get(49).

Corollary 15. The following relations hold:

$$\sum_{j=0}^{n} L(n,j)C_{j,\lambda,4}(x) = \sum_{k=0}^{n} \sum_{l=0}^{k} {k \choose l} \lambda^{l} C_{l}(\frac{x}{\lambda}) \frac{(-1)^{k}}{k-l+1} s(n,k).$$
 (50)

Proof. By applying (22), we get (50).

Corollary 16. The following relations hold:

$$\sum_{j=0}^{n} L(n,j)C_{j,\lambda,4} = \sum_{k=0}^{n} \sum_{l=0}^{k} {k \choose l} \lambda^{l} C_{l} \frac{(-1)^{k}}{k-l+1} s(n,k).$$
 (51)

Proof. Setting x = 0 in (50), we get(51).

Theorem 14. Let $n \geq 0$ be integers. Then

$$\sum_{k=0}^{n} B(n,k)C_{n,\lambda,4}(x) = \sum_{k=0}^{n} \sum_{j=0}^{k} {k \choose j} \frac{\lambda^{k-j}}{j+1} C_{k-j}(\frac{x}{\lambda}) S(n,k).$$
 (52)

Proof. For $\left\{\frac{k!}{n!}B(n,k)\right\} = (1,e^{e^t-1}-1)$, by applying (20), we get

$$\sum_{k=0}^{n} B(n,k)C_{k,\lambda,4}(x) = n! \sum_{k=0}^{n} \frac{k!}{n!} B(n,k) \frac{C_{k,\lambda,4}(x)}{k!}$$

$$= n! [t^{n}] \frac{\lambda y}{\ln(1+\lambda \ln(1+y))} (1+\lambda \ln(1+y))^{\frac{x}{\lambda}} (y = e^{e^{t}-1} - 1)$$

$$= n! [t^{n}] \frac{\lambda (e^{e^{t}-1} - 1)}{\ln(1+\lambda(e^{t}-1))} (1+\lambda(e^{t}-1))^{\frac{x}{\lambda}}$$

$$= n![t^n](e^{e^t - 1} - 1)\frac{\lambda(e^t - 1)}{\ln(1 + \lambda(e^t - 1))} \frac{1}{e^t - 1}(1 + \lambda(e^t - 1))^{\frac{x}{\lambda}}$$

$$= n![t^n] \left(\sum_{k=1}^{\infty} \frac{(e^t - 1)^{k-1}}{k!}\right) \left(\sum_{k=0}^{\infty} C_k(\frac{x}{\lambda})\lambda^k \frac{(e^t - 1)^k}{k!}\right)$$

$$= n![t^n] \left(\sum_{k=0}^{\infty} \frac{1}{k+1} \frac{(e^t - 1)^k}{k!}\right) \left(\sum_{k=0}^{\infty} C_k(\frac{x}{\lambda})\lambda^k \frac{(e^t - 1)^k}{k!}\right)$$

$$= n![t^n] \sum_{k=0}^{\infty} \sum_{j=0}^{k} {k \choose j} \frac{\lambda^{k-j}}{j+1} C_{k-j}(\frac{x}{\lambda}) \frac{(e^t - 1)^k}{k!}$$

$$= n![t^n] \sum_{k=0}^{\infty} \sum_{j=0}^{k} {k \choose j} \frac{\lambda^{k-j}}{j+1} C_{k-j}(\frac{x}{\lambda}) \sum_{n=k}^{\infty} S(n,k) \frac{t^n}{n!}$$

$$= n![t^n] \sum_{n=0}^{\infty} \sum_{k=0}^{n} \sum_{j=0}^{k} {k \choose j} \frac{\lambda^{k-j}}{j+1} C_{k-j}(\frac{x}{\lambda}) S(n,k) \frac{t^n}{n!}$$

$$= \sum_{k=0}^{n} \sum_{j=0}^{k} {k \choose j} \frac{\lambda^{k-j}}{j+1} C_{k-j}(\frac{x}{\lambda}) S(n,k) .$$

Corollary 17. The following relations hold:

$$\sum_{k=0}^{n} B(n,k)C_{n,\lambda,4} = \sum_{k=0}^{n} \sum_{j=0}^{k} {k \choose j} \frac{\lambda^{k-j}}{j+1} C_{k-j} S(n,k).$$
 (53)

Proof. Setting x = 0 in (52), we get(53).

Theorem 15. Let $n \geq 0$ be integers. Then

$$\sum_{k=0}^{n} \beta(n,k)C_{k,\lambda,4}(x) = \sum_{l=0}^{n} \sum_{k=0}^{l} \sum_{j=0}^{k} \sum_{i=0}^{j} {k \choose j} \lambda^{i} C_{i}(\frac{x}{\lambda}) C_{k-j} s(j,i) s(l,k) s(n,l).$$
 (54)

Proof. For $\left\{\frac{k!}{n!}\beta(n,k)\right\} = (1,\ln(1+\ln(1+t)))$, by applying (20), we get

$$\begin{split} &\sum_{k=0}^{n} \beta(n,k) C_{k,\lambda,4}(x) = n! \sum_{k=0}^{n} \frac{k!}{n!} \beta(n,k) \frac{C_{k,\lambda,4}(x)}{k!} \\ &= n! [t^n] \frac{\lambda y}{\ln(1+\lambda \ln(1+y))} (1+\lambda \ln(1+y))^{\frac{x}{\lambda}} (y = \ln(1+\ln(1+t)) \\ &= n! [t^n] \frac{\lambda \ln(1+\ln(1+t))}{\ln(1+\lambda \ln(1+\ln(1+\ln(1+t))))} (1+\lambda \ln(1+\ln(1+\ln(1+t))))^{\frac{x}{\lambda}} \\ &= n! [t^n] \frac{\lambda \ln(1+\ln(1+\ln(1+t)))}{\ln(1+\lambda \ln(1+\ln(1+t)))} \frac{\ln(1+\ln(1+t))}{\ln(1+\ln(1+t)))} (1+\lambda \ln(1+\ln(1+t))))^{\frac{x}{\lambda}} \\ &= n! [t^n] \left(\sum_{i=0}^{\infty} C_i(\frac{x}{\lambda}) \lambda^i \frac{(\ln(1+\ln(1+\ln(1+t))))^i}{i!} \right) \left(\sum_{k=0}^{\infty} C_k \frac{(\ln(1+\ln(1+t)))^k}{k!} \right) \end{split}$$

$$\begin{split} &= n![t^n] \left(\sum_{i=0}^{\infty} C_i(\frac{x}{\lambda}) \lambda^i \sum_{k=i}^{\infty} s(k,i) \frac{(\ln(1+\ln(1+t)))^k}{k!} \right) \left(\sum_{k=0}^{\infty} C_k \frac{(\ln(1+\ln(1+t)))^k}{k!} \right) \\ &= n![t^n] \left(\sum_{k=0}^{\infty} \sum_{i=0}^{k} C_i(\frac{x}{\lambda}) \lambda^i s(k,i) \frac{(\ln(1+\ln(1+t)))^k}{k!} \right) \left(\sum_{k=0}^{\infty} C_k \frac{(\ln(1+\ln(1+t)))^k}{k!} \right) \\ &= n![t^n] \sum_{k=0}^{\infty} \sum_{j=0}^{k} \sum_{i=0}^{j} \binom{k}{j} C_i(\frac{x}{\lambda}) \lambda^i C_{k-j} s(j,i) \frac{(\ln(1+\ln(1+t)))^k}{k!} \\ &= n![t^n] \sum_{k=0}^{\infty} \sum_{j=0}^{k} \sum_{i=0}^{j} \binom{k}{j} C_i(\frac{x}{\lambda}) \lambda^i C_{k-j} s(j,i) \sum_{l=k}^{\infty} s(l,k) \frac{(\ln(1+t))^l}{l!} \\ &= n![t^n] \sum_{l=0}^{\infty} \sum_{k=0}^{l} \sum_{j=0}^{k} \sum_{i=0}^{j} \binom{k}{j} C_i(\frac{x}{\lambda}) \lambda^i C_{k-j} s(j,i) s(l,k) \sum_{n=l}^{\infty} s(n,l) \frac{t^n}{n!} \\ &= n![t^n] \sum_{n=0}^{\infty} \sum_{l=0}^{n} \sum_{k=0}^{l} \sum_{j=0}^{k} \sum_{i=0}^{j} \binom{k}{j} \lambda^i C_i(\frac{x}{\lambda}) C_{k-j} s(j,i) s(l,k) s(n,l) \frac{t^n}{n!} \\ &= \sum_{l=0}^{n} \sum_{k=0}^{l} \sum_{j=0}^{k} \sum_{i=0}^{j} \binom{k}{j} \lambda^i C_i(\frac{x}{\lambda}) C_{k-j} s(j,i) s(l,k) s(n,l) \,. \end{split}$$

Corollary 18. The following relations hold:

$$\sum_{k=0}^{n} \beta(n,k) C_{k,\lambda,4} = \sum_{l=0}^{n} \sum_{k=0}^{l} \sum_{j=0}^{k} \sum_{i=0}^{j} {k \choose j} \lambda^{i} C_{i} C_{k-j} s(j,i) s(l,k) s(n,l).$$
 (55)

Proof. Setting x = 0 in (54), we get(55).

Theorem 16. Let $n \geq 0$ be integers. Then

$$\sum_{k=0}^{n} \sum_{j=0}^{k} B(k,j)\beta(n,k)C_{j,\lambda,4} = \lambda^{n}C_{n,\frac{1}{\lambda},2}.$$
 (56)

Proof. By applying (53), we get

$$\sum_{k=0}^{n} B(n,k)C_{n,\lambda,4}(x) = n![t^n] \frac{\lambda(e^{e^{t-1}}-1)}{\ln(1+\lambda(e^t-1))} (1+\lambda(e^t-1))^{\frac{x}{\lambda}}.$$

For $\left\{\frac{k!}{n!}\beta(n,k)\right\} = (1,\ln(1+\ln(1+t)))$, by applying (20), we get

$$\sum_{k=0}^{n} \sum_{j=0}^{k} B(k,j)\beta(n,k)C_{j,\lambda,4} = n! \sum_{k=0}^{n} \frac{k!}{n!}\beta(n,k) \frac{\sum_{j=0}^{k} B(k,j)C_{j,\lambda,4}}{k!}$$

$$= n![t^{n}] \frac{\lambda(e^{e^{y}-1}-1)}{\ln(1+\lambda(e^{y}-1))} (y = \ln(1+\ln(1+t))) = n![t^{n}] \frac{\lambda t}{\ln(1+\lambda\ln(1+t))}$$

$$= n![t^{n}] \sum_{n=0}^{\infty} \lambda^{n} C_{n,\frac{1}{\lambda},2} \frac{t^{n}}{n!} = \lambda^{n} C_{n,\frac{1}{\lambda},2}.$$

Corollary 19. The following relations hold:

$$\sum_{k=0}^{n} \sum_{j=0}^{k} B(k,j)\beta(n,k)C_{j,\lambda,4} = \lambda^{n} C_{n,\frac{1}{\lambda},2}.$$
 (57)

Proof. Setting x = 0 in (56), we get(57).

Acknowledgement

We thank the Editor and the referee for their comments. Research of Xiao-Qian Tian is funded by the National Natural Science Foundation of China under Grant 11461050 and Natural Science Foundation of Inner Mongolia 2020MS01020.

References

- [1] Merlini D, Sprugnoli R, and Verri M C, The Cauchy numbers, Discrete mathematics, **306** (2006), 1906–1920.
- [2] Pyo S S, Degenerate Cauchy numbers and polynomials of the fourth kind, Advanced Studies in Contemporary Mathematics, **28** (2018), 127–138.
- [3] Qi F, An integral representation, complete monotonicity, and inequalities of Cauchy numbers of the second kind, Journal of Number Theory, **144** (2014), 244–255.
- [4] Kim T, On the degenerate Cauchy numbers and polynomials, Proc. Jangjeon Math, 18 (2015), 307–312.
- [5] Kim T, Degenerate Cauchy numbers and polynomials of the second kind, Advanced Studies in Contemporary Mathematics, **27** (2017), 441–449.
- [6] Pyo S S, Kim T, and Rim S H, Degenerate Cauchy numbers of the third kind, Journal of Inequalities and Applications 32 (2018), 1–12.
- [7] Kumar Sharma S, Khan W A, Araci S, et al. New type of degenerate Daehee polynomials of the second kind, Advances in Difference Equations, 1 (2020), 1–14.
- [8] D. Lim, Degenerate, partially degenerate and totally degenerate Daehee numbers and polynomials, Advances in Difference Equations 1 (2015), 1–14.
- [9] Yanhong Li, Wuyungaowa, Some identities involving the Λ -Daehee numbers and polynomials, Journal of Progressive Research in Mathematics, **16** (2020),2395-0218.
- [10] Wang W, Riordan arrays and harmonic number identities, Computers Mathematics with Applications, **60** (2010), 1494–1509.